Rewrite the following statements, preceded by “This set of documents raises the following question:”.
[bookmark: _Hlk130446786]There should be a fixed minimum punishment for each type of crime, regardless of the circumstances.
Should there be a fixed minimum punishment for each type of crime, regardless of the circumstances?
There should be no limits to free speech. 
Should there be any limits to free speech?
Social inequality is an acceptable price to pay for economic success. 
Is social inequality an acceptable price to pay for economic success?
Elites are said to have lost touch with ordinary people. 
Have elites lost touch with ordinary people?
All developments in technology lead to progress. 
Do all developments in technology lead to progress?
Modern societies have become too individualistic.
Have modern societies become too individualistic?
Advertising that targets children should be banned from our televisions.
Should advertising that targets children be banned from our televisions?
All jobs will soon be done by artificially intelligent robots.
Will all jobs soon be done by artificially intelligent robots?
We must make it illegal to use animals for experiments.
Must we make it illegal to use animals for experiments?
People in western democracies take their rights for granted.
Do people in western democracies take their rights for granted?

REMEMBER 
a) In a yes/no question the auxiliary comes first.
b) If you have an open question with wh-, the wh- comes before the auxiliary (why must we make it illegal to use animals for experiments?)
c) Do not use do/did with another auxiliary (do we must!)
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